PART-1/ 901 -1
(Questions 1-20) / (we-w8A 1-20)
¢ the option that is opposite in

Directions (Questions 1-2) : In each of these questions,

meaning to the given word.

1. Decadent _ erous
(1) very old (2) knowledgeable (3) rich AA) PIOER
2. Enlightened . _ ful
(1) ignorant (2) spiritual (3) decisive (4) cheeriu
Directions (Questions 3-4) : In each of these questions, choose the option which can be substituted
for the given words. . -
3. That is most likely to happen in near future 3
(1) impregnable (2)-imminent (3) factitious (4) certain
4. Refreshment or amusement after hard work .
(1) leisure (2) enjoyment (3) rest (4) recreation

Directions (Questions 5-6) : Choose the option which best expresses the meaning of the given
idiom/phrase.
5. Tosmell arat

(1) to be in a bad mood

(3) to suspect foul dealings

(2) to get foul smell
(4) to find plage epidemic

6. To draw the line
(1) to withdraw from activity (2 to set limits
(3) to prepare for a battle (4) to decide one's future

Directions (Questions 7-8): In each of these questions, choose the word which has been c@tly

spelt.
7. (1) Aniversary (2) Annivarsary (3) Anniversery (4)Anniversary
8. (1) Bureaucrecy (2) Bureuacracy (3) Bureaucracy (4) Bureocracy

t

Directions (Questions 9-10) : In each of these questions, choose the option th
: at
meaning of the given word. P expresses the

9.  Husbandry

(1) marriage (2) farming (3) tailoring (4) worship
10. Modest

() arrogant ~_ (2) proud (3) humble (4) poor
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PART-11
(Questions 21-60)

Two trains running with speed in ratio 3:2 cross pole in same time. What is ratio of the length?

21,
(1323 (2) 4:9 (3) 14 (4) 3:2
22. The simple interest on a sum of money will be Y1600 after f:ight years. If the principal is tripled
after four years, then the total simple interest at the end of eight years will be ,
(1) 2880 (2) 33800 (3) 33400 (4) ¥3200
23. If there are 5 men and 4 women. Then, how many mixed double teams of badminton can be
possible if 2 men don’t want to make his team with a particular woman?
(1) 18 (2) 19 (3) 22 @7
24. The surface area of cube and sphere is equal, then ratio of their volumes respectively is
(1) 6 m:1 ) 1:67 (3) V67 :6 @) 1:6r
25. In alocality, three houses are available for rent. There are three persons who want to take these
houses on rent. Each applies for one house without consulting others. What is the probability
that all the three apply for the same house? '
1 1 3 1
1)'= 2) — 3) = 4) —
M3 _ @ - @ @ 3
26. The number by which 62557 can be divided to make ii: a perfect cube is I ¢
(1) 45 (2)37 ®l @
7. Which of the following numbers is a rational number?
: 2
(1) 245 (2) 2-45 3 W2+45f 4) (JE+_1J§)
28. The greatest number of four digits which is divisible by 5, 35, 39 and 65 is
(1) 9994 (2) 9555 (3) 9055 (4) 9505
29. If pis a prime number and p divides n*, then p divides
2
(1) 2n (2)n (3) 3n (4) None of these
30. If a perfect cube is divided by 7, then the remainder can never be .
(1)2 )1 3) 6 4) 0
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PART-II
(Questions 21-60)

Two trains running with speed in ratio 3:2 cross a pole in same time. What is ratio of the length?

21.
(1) 2:3 (2) 4:9 3) 1:4 (4) 3:2

22. The simple interest on a sum of money will be 31600 after eight years. If the principal is tripled

after four years, then the total simple interest at the end of eight years will be
(1) 72880 () 33800 (3) 3400 (4) 3200

23. If there are 5 men and 4 women. Then, how many mixed double teams of badminton can be
possible if 2 men don’t want to make his team with a particular woman?
(1) 18 () 19 (3) 22 4) 7

24. The surface area of cube and sphere is equal, then ratio of their volumes respectively is

(1) 6 m:1 () 1:67 (3) V6 :6 4) 1:V6r

25. In alocality, three houses are available for rent. There are three persons who want to take these
houses on rent. Each applies for one house without consulting others. What is the probability

that all the three apply for the same house?
1 1 3 |
1y= 9y o Lol 4=
M 3 _ @ - @ OF

26. The number by which 62557 can be divided to make ii a perfect cube is | :
(1) 45 (2) 37 3) 991 @

27. Which of the followin-g numbers is a rational number?

(1) 2++5 @) 2-45 ' @) V2+45) (4) [JE +TIF§)2

The greatest number of four digits which is divisible by 5, 35, 39 and 65 is

28.
(1) 9994 (2) 9555 (3) 9055 (4) 9505

29. If pis a prime number and p divides n”, then p divides

¢)) 2n’ (2) n (3) 3n (4) None of these

30. If a perfect cube is divided by 7, then the remainder can neverbe .
(1) 2 @)1 (3) 6 40
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31.

32,

33,

34.

35.

- 36.

a7.

38.

39.

40.

' yahlaj Nihalani (2) Leela Samson

National Education Day of India is celebrated on every year.

_('11 November (2) 4 February (3) 15 February (4) 12 January

Commemorative Postage Stamps on

Recently, Indian government released a set of
Swachh Bharat Mission (Clean India Mission).

(1) four \@,three (3) two (4) five

Bhalchandra Nemade honoured with Jnanpith award for the year 2014 is an eminent litterateur

in which Indian language?

(1) Sanskrit (2) Hindi (3) Gujarati (4) Marathi
Which movie won the Oscar in the best picture category in the 87™ Academy Awards?
(1) The Theory of Everything ~ (2) Glory

(3) Still Alice Wirdman

Which one of the following countries has a lady President?
(1) Sri Lanka (2) Greece (%)/Canada (4) None of these

Who is the Chairman of Central Board of Film Certification (CBFC) in India?
(3) Sharmila Tagore ~ (4) None of these

How many Schedules are there in the Constitution of India? :
110 @) 14 (3) 16 ) 2= (4)None of these

Which is the third largest planet in our solar system?

(1) Saturn Manus N (3) Neptune (4) Mars

Banaras Hindu University was established in the year by Pandit Madan Mohan
Malviya.
(1) 1914 (2) 1915 371916 (4) 1917

4
Vitamin B 12 helps in fighting against
vfﬂ)/r’\ncmia (4) None of these

(1) Goitre. (2) Rickets.
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41. Microsoft Windows designates the letter to the primary partition on the primary hard

drive in a computer by default.
) A 2) @ C @)

Which one of the following is the Windows program key combination for ‘Undo’ ?

42.
(1) CTRL+C (2) CTRL+X (3) CTRL+V CTRL+Z

43. Which of the following is not a video file format?
(1) AVI (2) MP4 (3) MKV (4) RIF

44. What does “SAVE AS” refer to when you are working in MS Office?
(1) Saving data in the same file.

( {2y Saving data in another file.
(3) Does not Save a file, just loads it into RAM.

(4) Both (1) & (2)

in a cell to start the formula.

(2) plus sign (+)
(4) equal sign (=) and plus sign (+)

45. In Excel document, one should type a/an
- Bequal sign (=)

(3) minus sign (-)

46. What will be the cell address in Excel if column name is ‘D’ and row Number is *3’7

(1) 3D _(2)D3 3)3 4)D

47. Which of the following is an input device?
(1) Monitor (2) Printer (3) Speaker - ($None of these

\

48. Which one of the following is/are Primary memory(ies)?

l(‘ITRandom Access Memory (RAM) (2) Pen Drive
(3) Mother Board (4) Both (1) and (3)

49. To start a slide show in MS PowerPoint, which key or key combination is pressed?

\yF5 (2) CTRLA+F5 (3) F11 (4) SHIFT+F11
50. Which one of the following is not a computer hardware?
~1) Windows Media Player (2) Keyboard
(3) Mouse (4) Printer
Code-41/B
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Directions (Questions 51-54) : In each of these questions, two tatements numbered as I & 1I are
provided. These may have a cause and effect relationship or may have independent causes or be the
effects of independent causes. Read the statements and mark answer as

(1) if the statement L is the cause and statement II is its effect.
(2) if the statement IT is the cause and statement I is its effect.
(3) if both the statements are effects of independent Causes.

(4) if both the statements are effects of some common cause.

51. StatementI: Most of the private schools have increased the tuition fees in Delhi this

year to meet their expenses.

The tuition fees in government-run schools have not been hiked in spite

Statement II :
of the unexpected price rise witnessed this year.

If we incorporate fruits as part of our meals, we avoid excess calories in
our daily in-take. Fruits are wholesome and have a very high water

content.

52. StatementI:

Many fruits like watermelon or cucumber are  calorie-burners as

Statement II:
digesting them burns more calories than eating them.

World Health Organization believes that one in 10 hospital admissions
‘leads to an adverse event and one in 300 admissions in death.

Unintended medical errors are a big threat to patient safety.

53. Statement]:

American Medical Association claims and quantifies that'there are
nearly 2000 deaths due to unnecessary sSurgery. 7000 deaths from
medication errors, 8000 deaths from infections and nearly 16000 deaths

due to adverse effects of medicines.

Statement II :

A bone ossification test conducted by AIIMS doctors has led to the
release of Fahroog who spent 11 years behind bars on charges of murder
despite being a juvenile at the time of offence.

54, StatementI:

Statement 11 : As per the calculation done by High Court Judge, FFahrooq must have
been not more than 17 years when he committed the crime and should
have been tried as per the Juvenile Justice Act, and should not have been
imprisoned for over 3 years for crimes including murder.
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Directions (Questions 55-56) : Each of the question given below contains three elements. These
clements may or may not have some intense linkage, Each group of elements may fit into one of the
diagrams lettered (1), (2), (3) or (4). You have to indicate the diagram in which the group of elements

fits correctly.

o (@) 2 ¢P »QO -

55. Teachers, Pilots, Human beings.

T ———— -

56. Sweets, Oranges, Fruits.

Directions (Questions 57-58) : Read the information given below carefully to answer these

questions. :
Seven boys - Rajan, Shyam, Vardhan, Mithra, Vimal, Raj and Kishan - are sitting in a row.

Shyam sits to the immediate left of Vardhan and third to the right of Rajan, whereas Mithra,
who sits at the left extreme, is next to Kishan.

57. Who is sitting to the immediate right of Shyam ? ,
(1) Mithra (2) Kishan (3) Vimal (4) Vardhan

58. If Vardhan and Kishan exchange places with each other without changing the rest of the
arrangement that is already done, who will be sitting to the immediate left of Rajan ?
(1) Kishan (2) Raj (3) Vimal (4) Vardhan

Directions (Questions 59-60): Study the given diagram carefully to answer these questions.

L»Professors

59. Which of the following represents the teachers who are professors and lecturers, but not

authors?
(1)B (2 E (3)C (4) None of these

60. 'G'represents the region of
(1) teachers who are authors and professors but not lecturers.
(2) lecturers who are authors and professors but not teachers.
(3) authors who are teachers and lecturers but not professors.
(4) lecturers who are authors but not professors and teachers.
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